Mar. 22, 2017 Sect. 6-6L Solving Systems of Linear Egns. Using Matrix Egns. Write the Matrix Egn. Find the Inverse Matrix Mult. Answer (x,y)

$$3x - 7y = 12$$

 $x + 5y = -8$

$$\begin{bmatrix} C \\ V \end{bmatrix} = \begin{bmatrix} A \\ A \end{bmatrix}$$

$$\begin{bmatrix} 3 - 7 \\ 1 \end{bmatrix} \cdot \begin{bmatrix} x \\ y \end{bmatrix} = \begin{bmatrix} 12 \\ -8 \end{bmatrix}$$

$$C \cdot V = A$$

$$A = A$$

$$V = A$$

$$V = A$$

$$C \cdot V = A$$
 $C' \cdot C \cdot V = C' \cdot A$
 $V = C' \cdot A$
 $V = C' \cdot A$

6-6b Notes March 22, 2017

$$\begin{bmatrix} 3 & -7 \\ 1 & 5 \end{bmatrix} \cdot \begin{bmatrix} x \\ y \end{bmatrix} = \begin{bmatrix} 12 \\ -8 \end{bmatrix}$$

$$\begin{vmatrix} 3 & -7 \\ 1 & 5 \end{vmatrix} = 15 - (-7) = 22$$

$$\begin{vmatrix} -1 & -1 \\ -1 & 3 \end{vmatrix}$$

March 22, 2017

$$\frac{1}{22} \begin{bmatrix} 57 \\ -13 \end{bmatrix} \cdot \begin{bmatrix} 12 \\ -8 \\ 2\times1 \end{bmatrix} \Rightarrow \frac{1}{22} \begin{bmatrix} 4 \\ -36 \end{bmatrix}$$

$$\begin{bmatrix} \times \\ 1 \end{bmatrix} = \begin{bmatrix} \frac{2}{11} \\ -\frac{18}{11} \end{bmatrix} \begin{bmatrix} 2 \\ -11 \end{bmatrix} = \begin{bmatrix} 11 \\ 11 \end{bmatrix}$$

$$5x + 2y = 6$$
 $6x + 4y = 4$

$$\begin{bmatrix} 5 & 2 \\ 6 & 4 \end{bmatrix} = \begin{bmatrix} 4 \\ 4 \end{bmatrix}$$

$$\begin{vmatrix} 5 & 2 \\ 6 & 4 \end{vmatrix} = 20 - 12 = 8$$

$$\begin{bmatrix} 5 & 2 \\ 6 & 4 \end{bmatrix} \Rightarrow \begin{bmatrix} 1 & -2 \\ -6 & 5 \end{bmatrix}$$

$$\frac{1}{8} \begin{bmatrix} 4 & -2 \\ -6 & 5 \end{bmatrix} \cdot \begin{bmatrix} 6 \\ 4 \end{bmatrix} = \frac{1}{8} \begin{bmatrix} 16 \\ -16 \end{bmatrix}$$

$$\begin{bmatrix} \times \\ 1 \end{bmatrix} = \begin{bmatrix} 2 \\ -2 \end{bmatrix} \Rightarrow \begin{pmatrix} 2 \\ -2 \end{pmatrix}$$

$$2x + 4y^{2} - 2$$

$$3x - y = 18$$

$$\begin{bmatrix} 2 & 4 \\ 3 & -1 \end{bmatrix} \cdot \begin{bmatrix} x \\ y \end{bmatrix} = \begin{bmatrix} -2 \\ 18 \end{bmatrix}$$

$$\begin{bmatrix} 2 & 4 \\ 3 & -1 \end{bmatrix} - 2 - 12 = -14$$

6-6b Notes March 22, 2017

$$\frac{1}{-14}\begin{bmatrix} -1 & -4 \\ -3 & 2 \end{bmatrix} \cdot \begin{bmatrix} -2 \\ 18 \end{bmatrix} = \frac{1}{-14}\begin{bmatrix} -70 \\ 42 \end{bmatrix}$$

$$\begin{bmatrix} \times \\ Y \end{bmatrix} = \begin{bmatrix} 5 \\ -3 \end{bmatrix} \implies \begin{pmatrix} 5, -3 \end{pmatrix}$$